
Form No. L3723-06/12
© Martin Engineering Company 2006, 2012

TECHNICAL DATA SHEET

* Data based on labratory testing. Fill times may 
  vary depending on air supply characteristics.

BENEFITS
•	 Increased Safety
•	 Increased Force Output
•	 Suitable for High Temperatures
•	 Easy Installation and Maintenance
•	 Cycle Guarantee
•	 Faster Fill Times

The Martin® Tornado Air Cannon produces better material flow with 
greater force, faster cycling, and improved safety. The Martin® Tornado 
Air Cannon fires when the exhaust valve opens in response to a posi-
tive surge of air sent by a tripped solenoid valve. This positive-acting 
valve amplifies the discharge force, up to 20% more force than a stan-
dard Martin® XHV Air Cannon of the same size.

PERFORMANCE DATA

Discharge Time

Noise LevelTank Fill Time*

Martin® Tornado Exhaust Valve

Unit shown as cutaway to  
show internal parts.

2-INCH VALVE

Martin® Tornado Air Cannon

80 psi

90 psi

100 psi

BB2-08-12
Tornado

BB2-08-20
Tornado

Noise Level (dB) of Discharge at Given Operating Pressure

N
o

is
e 

L
ev

el
 (

d
B

)

BB2-08-12
Tornado

BB2-08-20
TornadoT

im
e 

(S
ec

) 
T

o 
R

ea
ch

 S
o

u
rc

e 
P

re
ss

u
re

BB2-08-12
Tornado

BB2-08-20
Tornado

T
im

e 
(S

ec
o

n
d

s)

Operating Pressure (psi)

https://www.martin-eng.com/products/tornado-air-cannon.html
https://www.martin-eng.com/products/tornado-air-cannon.html


TECHNICAL DATA SHEET

Martin Engineering USA
One Martin Place
Neponset, IL 61345-9766 USA
800 544 2947 or 309 852 2384
Fax 800 814 1553
www.martin-eng.com

Form No. L3723-06/12
© Martin Engineering Company 2006, 2012

AIR VOLUME IN FT3 (LITERS) FREE AIR
Air Pressure 

PSI
0812 Tank 

ft3 (L)
0820 Tank 

ft3 (L)
0 0.3 (8) 0.5 (15)

40 1.1 (31) 1.9 (55)

50 1.3 (37) 2.3 (65)

60 1.5 (43) 2.6 (75)

70 1.7 (49) 3.0 (85)

75 1.8 (51) 3.2 (90)

80 1.9 (54) 3.3 (95)

85 2.0 (57) 3.5 (100)

90 2.1 (60) 3.7 (105)

95 2.2 (63) 3.9 (110)

100 2.3 (66) 4.1 (115)

110 2.5 (72) 4.4 (125)

120 2.7 (77) 4.8 (135)

DIMENSIONS NPT—National Pipe Thread

Model Assembly 
P/N

Dimensions Ship WT. 
lbs (kg)A B

BB2-08-12 37864-0812 12 (305) 21.07 (535) 50 (23)

BB2-08-20 37864-0820 20 (508) 29.07 (738) 57 (26)

NOTES

Tanks for Martin® Air Cannons supplied by Martin Engineering 
are manufactured to ASME Code Rules, Section VIII, Division 1. 
Tanks are National Board registered and pressure vessel quality 
(PVQ).

C  Copyright 2005 Martin Engineering . All rights reserved. Covered by U. S. and foreign

patents pending and issued. R  and TM  indicate trademarks of Martin E ngineering.

NEPONSET

ILLINOIS

USA

R

ASSEMBLY P/N ITEM 1 P/N DIM "A" DIM "B" ASSEMBLY WEIGHT

37864-0812 21858 12.00 [ 305 ] 21.07 [ 535 ] 50.1 LBS

37864-0820 23128 20.00 [ 508 ] 29.07 [ 738 ] 57.4 LBS

DRAWN RND

DATE 12/07/04

CHECKED

ENG. JLD

DATE 01/03/05

I.E. JimB

DATE 03/15/05

APPROVED TJM

DATE 03/10/05

SCALE 7/16

TITLE

DRAWING NUMBER

PR09922 37864-XXXX.  REVISION

BYDATEECNDESCRIPTION

NO.
JLD07/26/0511424

IN DRAWING DESC, CHG FROM "POS QEV" TO "TORNADO" AND
REMOVED "BB2" FROM DESC/ PICTORIALLY UPDATED FOR

CHANGES TO P/N 37857-U
A XHV 2.00 TORNADO

AIR CANNON ASSEMBLY

(HIGH TEMP)

ITEM QTY. DESCRIPTION PART NUMBER

1 1 BB2 TANK WELDMENT SEE CHART

2 1 TANK GASKET FOR 2.00 XHV 35872

3 1 VALVE BODY ASSEMBLY 35853-B

4 14 WASHER COMPRESSION 5/8 11752

5 4 SCREW HHC 5/8-11NC X 1-1/4 ZP 15798

6 1 O-RING 3-3/4 ID VITON 35863

7 1 PISTON SEAT FOR 2.00 XHV 35861

8 1 DISCHARGE WELDMENT FOR 2.00 XHV 35860

9 10 SCREW HHC 5/8-11NC X 2 ZP 18831

10 10 NUT HEX 5/8-11NC ZP 11772

11 1 PISTON FOR 2.00 XHV 35864

12 1 COMPRESSION SPRING 35865

13 1 2.00 TORNADO VALVE CAP ASM 37849

14 1 DISCHARGE CAP 2.00 PLASTIC 25451

15 1 BUSHING HEX 3/4NPT X 1/2NPT 11875

16 1 VALVE SAFETY 1/2NPT BRASS 21680

17 1 PLUG PIPE SQ HD 3/4NPT PLASTIC 12823

18 1 D-RING STEEL 32265

19 6 FT WIRE ROPE 1/4 100258

20 4 CABLE CLAMP 1/4 32264

21 2 FOAM-COHESIVE COATED 32523

22 1 SHACKLE 1/2 32856

23 1 LABEL KIT 34517-04I

24 1 MANUAL OPERATOR'S M3404

NOTES:
  1) ALL DIMENSIONS ARE GIVEN IN INCHES [MM].
  2) ALL DIMENSIONS ARE FOR REFERENCE ONLY.
  3) THE FIRST TWO XX'S IN THE PART NUMBER INDICATE TANK
     DIAMETER. THE NEXT TWO XX'S INDICATE TANK LENGTH.
  4) HEX BUSHING AND RELIEF VALVE (11875, 21680)
     ARE TO BE SHIPPED LOOSE.

NS

NS

NS

NS

NS

NS

NS

NS = NOT SHOWN

2-Inch NPT
DISCHARGE

3/4-NPT

14.70
(373)

EXHAUST
TYP 2

1/4-NPT
INLET

ISOMETRIC VIEW

SCALE  5/32

A

A

B

For further information, contact Martin Engineering at  
1-800-544-2947 or visit our website at www.martin-eng.com.


